Sample Risk Assessment 
	No
	Hazard
	Likelihood
	Impact
	Consequence

	1
	Falls
	Unlikely due to the use of handrails on the scaffold and tying-in ladders.
	Moderate
	Unauthorized access may result in a member of the public falling and injuring themselves resulting in anything from bruising to broken bones/concussion.

	2
	Trips
	
	Moderate


	

	3
	Cuts & Grazes
	
	 Minor
	

	4
	Electrocution
	
	Moderate


	

	5
	Anti-social behaviour
	
	Moderate
	

	Signed:

Dated:
	
	Review Date:




	ASSESSMENT FOR: Date Completed: 

	Risk
	Likelihood
	Score
	Impact
	Score


	Severity


	Control /Measure/Action

	Falls
	Unlikely
	3
	Minor
	2
	6
	

	Trips
	Unlikely
	3
	Minor
	 2
	6
	

	Cuts & Grazes
	Rare
	2
	Insignificant
	1


	2
	

	Electrocution
	Rare
	2
	Moderate
	3
	6
	

	Anti-social behaviour
	Possible
	4
	Minor
	2
	8
	

	Signed:

Dated:
	Review Date:
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RISK LEVEL = POSSIBLE SEVERITY OF HARMFUL EVENT FROM HAZARD
                           LIKELIHOOD OF HARMFUL EVENT OCCURRING
POSSIBLE SEVERITY OF HARMFUL EVENT
1 & 2 =Insignificant / Minor harm (< 3 days off work)
3 = Moderate  harm (> 3 days off work)
4 & 5 = Serious harm (death or major injury)
LIKELIHOOD OF HARMFUL EVENT (taking control measures into consideration)

1 = Harm of that severity is negligible
2 = Harm of that severity is rarely likely to occur
3 = Harm of that severity is unlikely to occur
4 = Harm of that severity is possibly likely to occur
5 = Harm of that severity is probably likely to occur
A RISK LEVEL OF
High & Very High Risk (Immediate Action)
Medium Risk (Action within one month or less if possible)
Low Risk (Action within three months or less if possible)
